Economics 231 – Fall 2012
HW #3

Please answer both questions in short answer form – avoid long essays (makes your answer harder to find).
1.
State the five conditions that must apply for a market to be successfully cartelized.  Explain why cartelization has been difficult in the following markets:

-coffee

-natural rubber

-petroleum

Why was cartelization easier in the bauxite market?

Part II – Explain the patterns of commodity prices in the 1970s and 1980s. Coupled with commodity dependence, how did this impact the developing nations?

2.
State the five stages of integration discussed in class.  State where the following integration movements are in the process:


European Union

Mercosur

NAFTA




Increased integration is said to be accompanied by lessened independence.  Evaluate that argument in light of your answers above.

Part II – Explain the fundamental conflict between the GATT/WTO system and regional integration.  In your answer, define trade diversion, and why is it important to this discussion?

